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ANTHROPOLOGY
PAPER —1I

Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

1.  The study of chemical and physical properties of blood is known as :
A) Haemotology

B) Genetics

~—

(
(
(C) Blood group analysis
(

D) Genetic Engineering

2. The main difference between the questionnaire and schedule is :
(A) Mode of operation
(B) Physical form
(C) Language

(D) Question format

3.  The word Anthropology is derived from :
A) English

B) Greek

~—"

C) German

(
(
(
(D) Latin

4.  Archaeology is :
(A) The discovery of the treasures of the past
(B) Meticulous work of the scientific analyst
(C) Systematic study of the past

(D) All the above are correct
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5.  Field survey in Archaeology consists of :
A) Exploration

B Excavation

~—"

(
(
(C) Exploration and Excavation
(

D) None of these

6.  The first pedigree of dominant inheritance in man was studied by :
(A) Galton
(B) Mendel
(C) Sutton
(D) Farabee
7.  The Genotypic ratio of Mendel’s monohybrid experiment is :
(A) 3:1
(B) 1:2:1
(S 9:3:3:1
(D) 1:3

8.  Multiple alleles control the inheritance of :

(A) Color blindness
(B) Sickle cell anaemia
(C) Blood groups

(D) Phenyl ketonuria

9.  The sequence of events in the fossil discoveries is :
(A) Neanderthal - Homoerectus - Anstralopithecus - Homohabilis
(B) Homohabilis - Homoerectus - Anstralopithecus - Neanderthal
(C) Homoerectus - Neanderthal - Anstralopithecus - Homohabilis

(D) Anstralopithecus - Homoerectus - Homohabilis - Neanderthal
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5. A o # & wlaor g R
(A) AT
(B) g & epter
(C) TTOUAT & Eig o TRt
(D) T 9 1 T

6. TG H Yol STIATR! ohi YW S¥Mac i T fohall SR :
(A) e
(B) Hved
Q) §eA
(D) RS

7. HUSA % AFRIEE W 1 SHlfefusw IR ¥
(A) 3:1
B) 1:2:1
(C) 9:3:3:1
(D) 1:3
8.  Wg-Ugldl geht avnia st Fafa & € :
(A) TI=Y
(B) fafra I THifen
Q) T 9T
(D) WA R

9. SiraTen WSl ol TAHA TH YHR T

A) fravee - M ST - stedtataed - m ifafaa
B) T Rfafad - S SRy - siteaifafes - faveta
C) I o - Fraveryd - sty - gt ¥fafea
D) SiEaaroes - BHl 3aed - BMl sfafad - Favetea

(
(
(
(
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10. Match the following List I with List II :

List I List II

(a) Zinjanthropus (1) Dart

(b) Java man (2) Leakey

() A. africanus (3) Boule

(d) La - Chapelle - aux saints (4) Dubois
(@) (b) () (d)

(A @ (1) (3) (4)

B (2 (4) (1) (3)

© @ (3) (4) (2)

O @ (2) (3) (4)

11. Anstralopitheciues were not found in :
(A) Taungs (B) Olduvai
(C) Trinil (D) Sterkfoulein

12. Taurodontism refers to :
(A) Crowded dentition (B) Short jawbone

(C) Large pulp cavity (D) Thickened enamel

13. Organic evolution is :

A) A slow continuous gradual process

B

~—"

A process of modification

C) A process of metamorphosis

(
(
(
(D) All of the above

14. Primate studies in Africa were done by :

(A) Goodall (B) Napier
(C) Weidenreich (D) Keith
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10. =1 = 1 1 = 1 9 faem wifsw)
et 1 g 11
(a) fS=reE 1) =R
(b) I A (2) TRl
(c) T efFHT (3) I«
d) -Ia-sit T (4) =gAEH
(a) (b) () (d)
(GYRENCY) (1) (3) (4)
B @ (4) 1) (3)
© @ (3) (4) (2)
D)y @ 2) ®) (4)
11.  SiEafafesis @l 78 9 e
(A) g (B) iegars
(C) Tfwa (D) WHH=H
12. 2Rieif=sy 1 o7 ¥
(A) YUREU W gaTl g fo=amd (B) Bl SIS =t iy
(C) St 9 ohferet (D) W HA
13. Sifos g ©
(A) T &t 71fd ki T wifasiter gfsean
(B) Weh HifHa uRadd @t ufskan
(C) ek STcfeen ARadd ot isha
(D) I |4t
14. AftRert § UIgH 18084 Tk g1 foranm Ton ¢
(A) T (B) HfrR
(C) e (D) =i
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15. If a colour blind man marries a normal woman then all sons will be :
(A) Normal

(B) Colour - blind

(C) Partially colour blind
(D) None of the above

16. An example of an autosomal recessive character is :
A) Lactose intolerance

B

~—"

(
( polydactyly
(C) Achondroplasia
(D) Cystifibrosis

17. Steatopegia is found among :
A) Bushmen - Hottentot
B

~—"

(
( Mongols
(C) Eskimos
(

D) American Indians

18. Who proposed the role of natural selection for red - green color - blindness in human
populations ?

(A) Ishihara

(B) Darwin

(C) Post and Pickford
(D) Robert

19. Karyotype refers to :
(A) Test tube baby
(B) A type of tool made of bone
(C) Systemic arrangement of chromosomes in sequence

(D) Fertiolized egg
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15. AfC T T B0 Uk 9 S 9 faare ot 39 gt g g

16. STETEMAA AYael T80 hl 3L © :

17. SO 9E S e 3

18. HMa S GHEl H AATeI-8Y TI-4dl H Urshfceh 01 skl YfHehl ohl TETerHT fohe it off ?
A) TRIREN

B) ifed

C) U T fushme

D) U«

(
(
(
(

19. &R FH d T :

D) wHfeq 3ve

D —-0704 9 P.T.O.



20.

21.

22.

23.

Ice age was caused due to :

(a) Change in solar radiation (b) Change in earth’s orbit
(c) Change in magnetic polarity of earth (d) change in sea level

(A) (a) is only correct

(B) (b) and (c) are correct

(C) (d) only is correct

(D) (a), (b) and (c) are correct

Samples of dendrochronology are taken from :
(A) Lake (B) River
(C) Tree (D) Amino - acid

Find the correct answer :
(A) India was under pluvial condition only
(B) India was under periglacial condition only
(C) India was under glacial condition only
(

D) India was under both pluvical and glacial condition

Match the following List I with List II :

List I List II
Tool types Techniques of manufacture
(a) Handaxe (1) Pressure flaking
(b) Blade (2) Polishing
(c) Laurel leaf point (3) Punch
(d) Celt (4) Acheulean
Code: (@) (B (©  (d)
@ @ B o o
® @ @O @ @
© O © @ 0
© @ @ @
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20. &9 g7 &1 R0 o1

() YA fafezor 7 afterd= (b) Y=t *F gfEHA-uY H gREd
(c) el ht Fraleh! Yol § gRerd (d) T TR H afadq

(A) I (a) TET

(B) (b)d(c) T

(C) Fad (d) TEr ¥

(D) (a), (b) T (c) W &

21. SgrhH@rS & T faT S € 36

(A) T (B) T
(C) 94 (D) sHAI-TfHe
22, WE SW gfen

(A) ¥RA Fad wfaad feafa & o
(B) WA herel Aifvreh fewftar feerfq # e
(C) ¥RA shaa fewta fearfa & o
(D) Ra wiferaet o fewitar fefa <1 & o

23. =1 =1 | = L e S

el 1 et 11
IUEHIUT YhTT frmtor fafr
(a) W FHeerel (1) IR TRAKIHI
(b) =TS (2) difas
(c) NS < qrEe @) U=
(d) e (4) Tfere
wMS: (@ () (O ()
Aa) @ (3) (1) )
B @ 1) ©) (4)
< o (2) (4) (3)
D) G (4) 2) (1)
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24. Match the following List I with List II :

List I List II

Sites Cultures
(a) Daojali Hading (1) Palaeolithic
(b) Bagor (2) Neolithic
(c) Navdatoli (3) Mesolithic
(d) Pallavaram (4) Chalcolithic

25. Consider the statement and find out the correct one :
(a) Sohan is a river (b) Sohan is a culture
(c) Sohan is a village (d) Sohan is a plateau
(A) (a) alone is correct
(B) (a) and (b) are correct
(C) (b) and (c) are correct

(D) All are correct

26. Domesticated cereals are characterised by which of the following :
(A) Non shattering grains
(B) Shattering grains
(C) Aeolian grains

(D) All of the above

D —-0704 12



24. =1 9= 1 9 = 1 1 faem i

Tt 1 et 11

SUGHIUT YT it fafi
(a)  STSAISTCA BT (1)  YUHTSTOTehTe
(b) @FR (2) T8 TTHTOTRTE
(c) o Al (3) W AU
(d) TeTeRd OEaIGIRED

wMS: (@ (O (9 (@
a) @ (2) (3) (4)
B 2 ©) (4) (1)
© 0 (4) (1) ()
(D) () 1) 2) (3)

25. 39 HYT W fa=R Stk T qmu :

(a) TATET (b) ©IeH UERfd T
(c) WeAumeE (d) Wed TR T
(A) () WEE

(B) (a) ¥R (b) WE &
(C) (b) AR (o) ¥ &
Tt wE '

26. <MF 9= 3H | foRg 9 favrdied € € -
(A) foa-fim = 31 9 a=
(B) fo=-fim 21 amer w=
(C) Tsdiferaa &=
(D) ST gt
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27.

28.

29.

30.

31.

Acheulian tool is made by which of following technique(s) :

(a) Stone hammer technique

(b) Cylinder hammer technique

(c) Prepared core technique

(d) Pressure flaking technique

Code :

(A) (a) and (b) are correct (B) All are correct
(C) (c) and (d) are correct (D) (c) only is correct

Which of the following is correct for chaleohthic culture :

(A) A combination of use of copper and stone
(B) A copper tool culture

(C) A chalk and stone tool culture

(D) Only stone tool culture

Which of the following is Mesolithic a site ?
(A) Sohan (B) Renigunta
(C) Mahadaha (D) Ropar

Which of the following is a product of punch technique ?
(A) Fluted core (B) Discoid core

(C) Tortoise core (D) Amorphous core

Find out which of the following is correct for Inamgaon :
(A) Itis a Neolithic site

(B) Itis a Chalco - Neolithic site

(C) It is a chalcolithic site

(D) Itis an early historic site

D—-0704 14



27. TEIferae Sustvl foy wfafy & fafifa fee sma € -

(a) KR FHearel yfafy
(b) fafeet FHeret yfafy

(c) TAfHa =R ufafy

(d) ISR FeTehiehtl Gfafy

e

(A) (a) 9 (b) T T (B) Tt wdr &

(C) (o) (d)T& T (D) I () TE T

28. =1 # @ %M H IUYH AARIAd TEHd T
(A) 6 d TR o STAN &1 FEHF0
(B)  diell ST HER{d
(C) Tfea o T&a YT HEHfd
(D) <hId JER ITHRI0T GER(d

29. TH U 79 YTOUEhA 1 T i W

(A) Hre (B) Yuiler
(C) W (D) T

30. G R W iawfafa w e :
(A) KIS IR (B) fe&hiae &R
(C) <iefgq =R (D) STHfaE HR

31. TG % fowa H A e w R
(A) ¥Ig 7 IO hch T ©
(B) ¥E eehl-TUTIIUIhICH I €Il &
(C) I= ATk T §
(D) =g YRt Wfcerfaes Tt §
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32. Match the following List I with List II :

List I List II

Sites Location
(a) Bagor (1) Rajasthan
(b) Birbhanpur (2) Gujrat
(c) Bhimbetka (3) West Bengal
(d) Langhnaj (4) Madhya Pradesh
Code

@ ® © @
@a O @ @ @
B O @ @ @
© @ @O @ @
® B © O @

33. Who has termed Neolithic period as ‘revolution” ?
(A) Leaky (B) Braidwood
(C) Grahame clark (D) Gordon Childe

34. Which of the following is not true ?

(A) Fire was used in lower palaeolithic age
B) Neanderthal man is found in Narmada valley
Upper palaeolithic men in Europe made cave art

Burzahem is a Neolithic site

35. Living megaliths are found among :
(A) Naga (B) Khasi
(C) Birhor (D) Toda

36. Ruth Benedic wrote the following book :
(A) Patterns in culture (B) Patterns of culture

(C) Cultural Patterns (D) Culture and Pattern
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32. T9=1 &= 1w = 11 o ferm IS

el 1 gt 11

e irmifeTen T
(a) WFR (1) TS
(b) SR (2) TSR
(c) i (3) ufeaHt sme
d) < (4) T
<

(a) (b) (©) (d)
Ay @ (2) 3) (4)
B @) ®3) (4) )
< @ (1) (3) (4)

) 2) 1) (4)

)
D) (3 2 1 4

33. AU i <kl “Shifd’ f71 H 9 forem w1 2

(A) Rt (B) IS
(C) eH Tk (D) TiEA =TS

34. fAI R W wd =& T
(A) 7= quTeTor ShTet H A% T SN o
(B) froveye uHa e =et # faerar ©

(C) U4 o I JUUIIIORRIGH HIFa = TR hedl Sl S e
(D) S[ITEM TTTURhTe M Tt &

35. Siiford HRMHTEIO 9T S € 394 ¢
(A) S (B) @rHt
€ foEr (D) 2=

36. &Y sHfeae 7 =1 g&ae fast ¢

(A) Y 3 Foe= (B) YedH 3iiw Fe=
(C) weRd Yeid (D) e’ T0E Yoig
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37.

38.

39.

40.

41.

‘Syncritization” refers to :

(A) The process denoting fusion of two distinct systems of beliefs and practices
(B) This term was used by Arthur Ramos, a Brazilian anthropologist

(C) The term was used by Robert Red field

(D) Both (A) and (B) are correct

In the aspect of social structure :

(A) Principle of continuity in society is found
(B) Variation and change is found

(C) Individual choice is found

(D) All are correct

The terms Exogamy and Endogamy must be defined with reference to :
(A) Wider uses of caste and tribe

(B) Tribal communities only

(C) Caste communities only

(D) A defined social group

In anthropological sense, the common criteria(n) of claims to property is/are :
(A) Membership in corporate group

(B) Claims based on personal role of individual

(C) Claims basedon social role of individuals

(D) All are correct

The author of “Crime and Punishment in savage society” is :
(A) A.R. Radcliffe - Brown (B) B. Malinowski

(C©) Max Gluckman (D) E.E. Evans - Pritchard
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37. faThrEdSRT & 1 TR
(A) T Ul fome gr <t fom yonferat o faam oiR gensti &1 oo S ®

(B) I WsITelcll Ueh SITSicl HIFel WM 3712 WY 3 =Feed fohan o
(C) =9 VKA &l &2 {EHIeS 7 HRR fhar o
(D) (A) iR (B) St &t &

38. WIS TSI % Uge] H THIGANRG ¥ :

(A) TS H FR=Ran < f7em 91 S 2 (B) ®UNR AR IREH = S |

(C) Safeder JATE I ST (D) ¥+f W& T

39. dfefelemg iR efaare wREeEl i 7 § qRifa & =fe
(A) SIfd AR S % F8q STATar o dasf #
(B) S SIS HHSME % HeH |
(C) <k Tifd oG o ded |
(D) T uftwfud |

40. HHeRTETT e §, Hufd & I F WER TEF ©
(A) WEHfEH T i HEEdl
(B) = & =afda yfert W aenfia <@
(C) =afes & wmifae yfae W aenfia <
(D) @t w&r &

41. “3hTZH TUE FASMHE 37 Tos HEE’ & IEF ¢
(A) TSR Efeas-amsd (B) . Hferent
(C) T TAHHA (D) EE. zarw fireg
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42.

43.

44.

45.

46.

A classical approach to the study of anthropological religion is found in :
(A) ‘Primitive culture’

(B) ‘The Elementary Forms of religious life’
(C) ‘The Golden Bough’

(

D) All are correct

A ceremony is defined :

(A) As a complex of rituals associated with a specific occasion or kind of occasion
(B) As expressions of feelings and sentiments

(C) In terms of deed and creed

(D) All are correct

Evans - Pritchard made a distinction between witchcraft and sorcery in the following
way :

(A) Witchcraft is found among the primitive society while sorcery is found in all
societies.

(B)  Witchcraft is innate, psychic ability of some people to harm others, in sorcery, the
performer manipulates objects to bring about harmful or beneficial effects.

(C) Witchcraft is practiced by the female, while sorcery is practised by the males

(D) A sorcery always involves witchcraft

Eskimo settle their disputes through a :
(A) Fight (B) Song contest
(C) Go - between (D) Chief

If an accused person is asked to prove his innocence by putting his hands in boiling
water, it is called :

(A) Ordeal (B) Oath

(C) Ritual (D) Both (A) and (B) are correct
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42.

43.

44.

45.

46.

=1 & Ame e o deelt 1A & i HEenfud SunTH ure S ®
(A) “Tufafes =t

(B) “fs tfearHctt Wil &% Rfcsa aEw”

(€ “feieesd s

(D) @t wdt &

T ¥ BF w1 39 yeR aRfya e S weRan ® -

(A) T STIFMI I FHIE ST Toh foRIT STaeR ST TR 1 STaER § Twifed ©
(B) wAmET SR sTyfEt @t sifveate

(C) T o A ok Ty |

(D) &t wel &

Tara-T=E 3 TR well 9 SiE el # 39 YR S R ©
(A) ST el JUad FES H R Sl § qe iien e 9eft gl |

(B) ST el Al i AdReh STfcHen &fdl ¥ Ol i &ffd Ug=m i, Sfeifer 3fren e #
&Rl 1 A § A SAfedeit o fedeit g S e S ©

(C) ST el Tl gRI SR e el T gRI YT | g St §
(D) e el # SPH et 9o foemm edt §

Ufewdt 3o foare 1 fReRor fe w9 & €
(A) W=E (B) Tita wfc=nfi
(ORREEEH (D) HfE=

Ifc Tk Af® 1 T ! TS JHIford S o o g1t <l 3aerd art H Sl i el Se dl
@%ﬁ%

(A) (B) v

(C) g8 (D) (A)d (B) i W&l &
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47. Which of the following is characterized as denotified communily :
(A) Yerukala (B) Lodha
(C) Sansi (D) All are correct

48. Which one of the following, person(s) wrote the book the ‘Indian Village” :
(A) Haimendorf (B) Srinivas

(C) S.C. Dube (D) F.G. Bailey

49. According to the People of India Project, there are :

(A) Over 4500 communities in India

(B) About 2200 main commmunities in India, rest are segments of the main community
(C) About 60 percent communities have territory - based habitat

(D) All are correct

50. A chiefdom :

(A) is intermediate between the tribe and the state

(B) is a quasi - permanent political structure and incipient social stratification
(C) is always found in stratified society

(D) Both (A) and (B) are correct
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